RESEARCH Open Access

# Does patient engagement affect IBD patients' health-related quality of life? Findings from a cross-sectional study among people with inflammatory bowel diseases

Serena Barello<sup>1\*</sup>, Elena Guida<sup>2</sup>, Salvatore Leone<sup>3</sup>, Enrica Previtali<sup>3</sup> and Guendalina Graffigna<sup>4</sup>

# Abstract

**Background:** Patients diagnosed with inflammatory bowel disease (IBD) are required to deal with the unpredictability of this clinical condition, which is associated with poorer health-related quality of life (HRQoL) compared to other clinical conditions. Patient engagement is currently demonstrated to relate with chronic patients' HRQoL, but few studies have been conducted among this population.

**Methods:** A cross-sectional study was conducted among 1176 IBD patients. Data were collected on participants' HRQoL (SIBD-Q) and patient engagement (PHE-s<sup>®</sup>). Regression analysis was used to examine the effects of patient engagement on HRQoL.

**Results:** About the half of the sample (47%) reported a low patient engagement level. 30% of the sample reported a low level of HRQoL. Psycho-emotional functioning resulted to be the aspect of HRQoL most impacted in the 37% of the sample. The regression model showed that PHE-s<sup>®</sup> is significantly related to the SIBD-Q total score (B = .585; p < .001; R squared = .343) and to the subscales' scores—systemic symptoms (B = .572; p < .001; R squared = .327), bowel symptoms (B = .482; p < .001; R squared = .232), social (B = .485; p < .001; R squared = .234) and psycho-emotional (B = .607; p < .001; R squared = .369) functioning.

**Conclusions:** Patients who are engaged in their IBD care pathway are more likely to report higher level of HRQoL, thus offering clues to potential therapeutic approaches to ameliorating IBD patients' wellbeing. As this is a modifiable factor, screening for patient health engagement levels, coupled with appropriate interventions, could improve care, and ultimately improve HRQoL outcomes among IBD patients.

**Keywords:** Patient engagement, Health-related quality of life, Inflammatory bowel diseases, Healthcare, PHE-s®

# **Background**

At the turn of the twenty-first century, Inflammatory Bowel Disease (IBD) has become a global disease with increased incidence in newly industrialised countries. The global epidemiology of IBD has changed substantially over time, with a recent review demonstrating an increasing incidence of inflammatory bowel disease in developing nations and a stabilising incidence in developed nations [1][1][1]. The incidence rate of Crohn's disease (CD) in Italy is lower than those reported for other Mediterranean countries; in contrast, the Ulcerative Colitis (UC) incidence rate is within the range of those reported in European studies[4].

Full list of author information is available at the end of the article



© The Author(s) 2021. **Open Access** This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third partial in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4.0/. The Creative Commons Public Domain Dedication waiver (http://creativecommons.org/publicdomain/zero/1.0/) applies to the data made available in this article, unless otherwise stated in a credit line to the data.

<sup>\*</sup>Correspondence: serena.barello@unicatt.it

<sup>&</sup>lt;sup>1</sup> EngageMinds Hub, Consumer, Food and Health Engagement Research Center, Faculty of Psychology, Università Cattolica del Sacro Cuore, Milan, Italy

CD and UC are the two main conditions that collapse into IBD, that is an idiopathic disease of the gastrointestinal system that is characterized by chronic bowel inflammation [5]. They can affect any age group, have a significant impact on working age populations and lead to a considerable societal and economic burden. The goal of treatment for IBD is to diminish or eliminate disease activity and optimize health-related quality of life (HRQoL). Thus, healthcare services need to address any factors that might contribute to disease flares and diminished HRQoL [6, 7].

Patients diagnosed with IBD are required to deal with the uncertainty of the symptoms and the unpredictability of this clinical condition along their illness journey [6, 8]. Particularly, these factors can greatly inhibit their personal, social, employment, and recreational functioning, thus deeply impacting their HRQoL. For these reasons, beside medical and physical consequences, IBD can also have a significant negative impact on patients' HRQoL. Factors that appear to affect the HRQoL of IBD patients include the disease course (extent, severity, and pattern of symptoms' relapse)[9], prescribed therapy (efficacy, side effects, and burden of administration) [10], and non-disease-related factors[11-13]. Among non-disease related factors, an increasing body of literature is currently demonstrating the role psychosocial factors in affecting IBD patients' HRQoL [12-16]. For instance, perceived stress has been found to be correlated to disease exacerbation, thus indirectly affecting patients' HRQoL [17]. On the contrary, effective coping strategies help patients to more effectively adjust to adverse stressors, thus improving both clinical outcomes and satisfaction with life [11, 18]. On the other side, maladaptive coping behaviors such as self-blame, avoidance strategies are negatively correlated with patients' HRQoL [11, 19, 20]. Other authors showed how self-image and the individuals' ability to engage in intimate relationships – which are often compromised in patients with IBD—are important factors in their HRQoL [15]. Finally, some authors have also demonstrated the role of some personality traits in affecting the illness course [14, 21, 22]. In some studies, stable personality traits such as neuroticism and alexithymia were found to be related to IBD patients' HRQoL, whereas social desirability was not [23, 24]. Another psychosocial aspect that research pointed out as worth to be investigated is that IBD patients' adaptive attitudes towards the disease and its treatment make them more resilient and able to manage disease-related stressors [13, 25–28]. Particularly, among the adaptive attitudes that patients might enact, patient health engagement—described as the psychological readiness of individuals to become active player in their own healthcare management [29]—is more and more recognized to be a predictive factor of patient's healthy behaviors and better clinical and psychological outcomes among chronic conditions such as IBD [30–37].

Goldring and colleagues, for instance, found that patients who were engaged in an active shared decision-making regarding their disease management with their doctor were more likely to report greater HRQoL[38]. Accordingly, Munson and colleagues provided some evidence that there are significant linkages between patients' attitudes towards their care and their HRQoL [37]. Moreover, literature on chronic patients suggests that patients who report higher engagement in the care process are more likely to report better HRQoL scores [39–41].

However, to the best of our knowledge, no study has focused on the role of IBD patient health engagement in disease management in determining their HRQoL. According to these premises, with this study we aimed at detecting the role of the patients' psychological readiness to be active player in their IBD management (i.e. patient health engagement) in affecting patient's HRQoL.

### **Methods**

### Study design and population

A cross sectional online survey study has been conducted on a purposive, not representative sample of Italian patients diagnosed with IBD. The study was based on a semi-structured self-administered online questionnaire consisting of validated psychometrics scales and had hoc items. More details on the questionnaire are provided in the following section.

Recruited patients belong to an IBD national-based Italian patient organization named "A.M.I.C.I. onlus" (Italian National Federation of Inflammatory Bowel Disease). They were invited—using mailing list of the patient organization A.M.I.C.I. onlus—to take part to this study between November 2016 and December 2017 and to complete and online survey distributed through the online platform Qualtrics®. No incentives were given to participants. Inclusion criteria were: age 18 years and older, diagnosed with IBD, and being able to read and understand the questionnaire.

### Measures

The study questionnaire consisted of psychometric tools to address the research objectives. Moreover, we collected socio-demographics and clinical variables (age, gender, education, presence of children, employment, diagnosis, years from diagnosis, number of relapses). More details on the psychometric instruments implied in the study are provided in the following paragraphs.

# Patient health engagement: PHE-s Scale®

The Italian version of the PHE-s scale<sup>®</sup> [42] was used to evaluate patients' level of individual's engagement in their health care management. The scale is based on the PHE model [43] which is a developmental psychological theory describing the patient's experience of becoming active players in their healthcare pathway. According to this model, individuals may be differently engaged in care management according to their emotional, cognitive, and behavioral mindset [42]. Across the patient health engagement journey, while patients gain knowledge and information about their disease, they generally become more emotionally adjected to their health condition and more confident in their ability to manage their disease.

The PHE-s scale® is able to grasp the complex psychological experience of the patient health engagement and has ordinal structure in order to be consistent with the PHE model's conceptualization, which, through an algorithm which provides the final score, envisages four different positions along the engagement continuum: Blackout, Alert, Adhesion and Eudaimonic Project [29]. Specifically, patients have been considered with a "low PHE level" when they are positioned in Blackout or Alert, whereas they were defined as "high PHE level" when their scoring was related to the Adhesion and Eudaimonic positions (see Table 2). The scale is measured on a 7-point scale in order to facilitate patients' responses and to avoid social desirability bias[42].

### Health-related quality of life: SIBD-Q

Patients' HRQoL has been measured through the Short Inflammatory Bowel Disease Questionnaire (SIBD-Q) [44, 45]. SIBD-Q is a validated and reliable tool which measures HRQoL in adult patients with IBD, UC, or CD. It contains 32 questions, divided into four HRQoL domains: bowel symptomatology (10 questions), syssymptoms (5 questions), psycho-emotional function (12 questions), and social functioning (5 questions). For each question there are graded responses on a 7-point Likert scale, ranging from 1 (representing the "worst" aspect) to 7 (representing the "best" aspect). The four HRQoL domains are calculated as the mean of the questions referring to each specific health area and. The total SIBD-Q score ranges from 32 to 224, with higher scores reflecting better wellbeing. Finally, patients have been categorized as with a "low level of HRQoL" or with a "high level of HRQoL" for each domain, depending on the mean rate they reported: if it was above the median point of the Likert scale, they were considered as "high", while if it was below, they were in a "low" position.

# Statistical analysis

Statistical analysis has been run with the software IBM SPSS 23. Socio-demographic characteristic were analysed using descriptive and frequencies analysis. Preliminary, we tested the consistency of PHE-s® both as continuous and categorical variable and correlations were used to test any association between socio-demographic data and other variables. Secondarily, to understand whether PHE-s® has a statistically significant effect on SIBD-Q total score and subscales when confounding variables—i.e. patients' age, year of diagnosis and number of relapses, education, employment and presence of children-are controlled, a MANCOVA has been performed. Finally, we explored the relation between PHE-s<sup>®</sup> and SIBD-Q trough a simple linear regression model to understand the predictive power of patients' health engagement on IBD patients' HRQoL.

### **Ethical considerations**

The study protocol was approved by the Ethics Commission of the Department of Psychology of the Catholic University of Milan (Italy). All patients involved in the study gave informed consent to participate.

### Results

The sample involved in this study consisted of 1176 IBD patients. All the subjects that was present in the mailing list of the patient organization were contacted to fill out the online questionnaire. No data about who did not fill out the questionnaire were available. Socio-demographic data of people that completed the survey are showed in Table 1 and highlight an almost equal distribution between male and female participants, between those with and without children and a mean age of 45 years old. 51% has a high school degree and 86% is currently employed. The average number of disease relapses during the previous year is of 2, for a minimum of 0 and a maximum of 5 (see Table 1). Participants were also asked to report the number of years from the IBD diagnosis which ranged from 1 to 47 year(s).

Concerning the patient health engagement level, measured through the PHE-s<sup>®</sup>, about the half of the sample (47%) reported a low health engagement level (Blackout or Alert) (see Table 2). Moreover, 30% of the sample globally reported a low level of HRQoL: particularly, 29% reported problems concerning systemic symptoms and social functioning, and 23% felt impaired because of bowel symptomatology.

Barello et al. Health Qual Life Outcomes (2021) 19:77 Page 4 of 9

**Table 1** Socio-Demographic and clinical characteristics of the sample (N = 1176)

	Total		Chron's disease		Ulcerative colitis		Unclassified colitis	
	N	%	N	%	N	%	N	%
Gender								
Female	365	48.3%	189	25,0%	171	22,6%	2	0,3%
Male	391	51.7%	202	26,7%	182	24,1%	1	0,1%
Number of relapses (0 -5)								
0	236	33.0%	0	0,0%	139	19,4%	1	0,1%
1	172	24.1%	1	0,1%	87	12,2%	0	0,0%
2	86	12.0%	2	0,3%	39	5,5%	0	0,0%
3	219	30.6%	3	0,4%	105	14,7%	2	0,3%
5	2	0.3%	5	0,7%	2	0,3%	0	0,0%
Education								
Primary School	23	2.0%	12	1,1%	6	0,5%	0	0,0%
Secondary School	239	20.9%	82	7,2%	80	7,0%	2	0,2%
High School	585	51.3%	206	18,1%	182	16,0%	1	0,1%
Bachelor	236	20.8%	60	5,3%	65	5,7%	0	0,0%
PhD, Master Degree	44	3.8%	16	1,4%	8	0,7%	0	0,0%
Other	13	1.1%	2	0,2%	2	0,2%	0	0,0%
Employment								
Full time job	510	48.8%	177	16,9%	164	15,7%	1	0,1%
Part time job	198	18.9%	46	4,4%	46	4,4%	0	0,0%
Retired	121	11.6%	42	4,0%	37	3,5%	1	0,1%
Unemployed	193	18.5%	73	7,0%	60	5,7%	1	0,1%
Other	23	2.3%	10	1,0%	13	1,2%	0	0,0%
Children								
No	327	44.7%	179	24,4%	145	19,8%	0	0,0%
Yes	406	55.3%	196	26,7%	198	27,0%	3	0,4%
Years from diagnosis	Total		Chron's disease		Ulcerative colitis		Unclassified colitis	
Mean	12.0		12.1		11.7		12.3	
Median	10		10		9.00		7	
Standard deviation	9.24		9.55		8.83		11.9	
Minimum	0		0		1		4	
Maximum	48		48		48		26	
Age								
Mean	53		57		59		61.0	
Median	43.0		42.5		45		59	
Standard deviation	24		31		25		20.1	
Minimum	18		17		16		42	
Maximum	93.8		82		83		82	

**Table 2** Distribution of PHE-s® levels (%) in the study sample

PHE-s <sup>®</sup> scores									
Low level of P Engagement	atient	High level of Pa	atient Engagement						
Blackout Alert		Adhesion	Eudaimonic Project						
7%	40%	42%	11%						

Nevertheless, the main issue for patients of this study seems to be the psycho-emotional functioning, that is considered the aspect of HRQoL most impacted by IBD in 37% of the sample (see Table 3).

Moreover, regarding socio-demographic and clinical variables and their association with HRQoL, the number reported disease relapses showed a negative association with the SIBD-Q: the higher number of

**Table 3** Health-related Quality of Life levels (%) in the four domains assessed by the SIBD-Q in the study sample

	SIBD-Q scores		
	Low level of Health-related Quality of Life (< median value)	High level of Health-related Quality of Life (> median value)	
Psycho-Emotional Functioning	37%	63%	
Bowel Symptoms	23%	77%	
Social Functioning	29%	71%	
Systemic Symptoms	29%	71%	

relapses are referred, the lower SIBD-Q is, concerning total score (r = -0.403; p < 0.001), systemic symptoms (r = -0.403; p < 0.001), bowel symptoms (r = -0.359;p < 0.001), social (r = -0.403; p < 0.001) and psychoemotional (r = -0.334; p < 0.001) functioning. Gender was significantly associated to HRQoL: male patients reported higher mean values of HRQoL than female patients. This effect is significant for SIBD-Q total score (F = 14,67; p < .01), as well as systemic symptoms (F = 13,35; p < .01), emotional functioning (F = 9,26;p < .05) and bowel-related symptoms (F = 14,93; p < .05) 01) but not for social functioning. To understand the relationship between the level of patient health engagement (PHE-s®) and the level of patients' HRQoL (SIBD-Q) and if this relationship was affected by confounding variables-patients' age, years from diagnosis, number of relapses, presence of children education level and employment—a multivariate analysis of covariance (MANCOVA) has been performed. Table 4 shows results of the MANCOVA. MANCOVA showed that PHE-s® has a statistically significant association with SIBD-Q total score and subscales when all confounding variables are controlled (F = 95,692; p < 0.01) as well as with all SIBD-O subscales. Nevertheless, the interaction between PHE-s®levels and gender is not statistically significant (p > 0.05). Similarly, the interaction between PHE-s®and the number of relapses in the last 12 months does not show any significance (p > 0.05).

Finally, a linear regression model has been run to understand the relationship that occurs between patient health engagement scores (PHE-s®) and patients' HRQoL scores (SIBD-Q). Consistently with our hypothesis, this analysis pointed out that PHE-s® is significantly related to the SIBD-Q total score (B=0.585; p<0.001; R squared=0.343) and to the subscales' scores—systemic symptoms (B=0.572; p<0.001; R squared=0.327), bowel symptoms (B=0.482; p<0.001; R squared=0.232), social (B=0.485; p<0.001; R

squared = 0.234) and psycho-emotional (B = 0.607; p < 0.001; R squared = 0.369) functioning (see Table 5).

### Discussion

This manuscript is based on a cross-sectional study undertaken among patients with IBD and the participants are members of a voluntary-based patient organization, AMICI. The aim of this study was to assess the effects of IBD patient's level of health engagement on their HRQoL. The Italian version of the PHE-s®scale was used to evaluate patients' level of health engagement. The SIBD-Q was administered to assess the HRQoL. The association between HRQoL and patient health engagement was assessed by performing MANCOVA and linear regression models. The main finding of this study is that patient health engagement, considered as the patients' psychological readiness to play an active role in the healthcare process [29], is significantly associated with the level of patients' HRQoL when socio-demographic and clinical confounding variables are controlled. Since PHE-s<sup>®</sup> level has been found to be related with SIBD-Q, we deepened the nature of this relationship by running a regression analysis. The regression model confirmed, in line with our hypothesis, the significant association of patient engagement and patients' HRQoL levels after controlling for the other confounding variables such as demographics and clinical ones. This result is in line with other studies-conducted on different clinical populations—that have demonstrated how playing an active role in the self-management of the disease can be useful to improve many aspects concerning both patients' HRQoL and disease severity [52, 53]. For example, Druss and colleagues [54] tested an intervention aimed at sustaining patients with mental health issues in their involvement in the healthcare process. In that study, experimental group showed significantly greater improvements in patient engagement than those in usual care, along with greater improvements in adherence, physical activity, and HRQoL. Barnes and colleagues have discovered that higher patient engagement in their care is associated with remission in patients with IBD [55].

Moreover, according to existing literature about factors impacting on IBD patients' HRQoLof life, this study confirmed the significant association of socio-demographics (i.e. gender, age) [47, 48] and clinical variables (i.e. reported disease relapses) [49] with IBD patients' HRQoL. Our results, appears in line with the ones by Sainsbury and colleagues [17] whose research underlined that not only clinical factors, but also socio-demographics—including gender and age—appear to be important in affecting patients' HRQoL, suggesting that clinicians' attention needs to be drawn towards those variables to improve efficiently IBD patients' HRQoL. Some authors,

Barello et al. Health Qual Life Outcomes (2021) 19:77 Page 6 of 9

**Table 4** The MANCOVA model explaining PHE-s<sup>®</sup> and SIBD-Q association and the influence of socio-demographic and clinical variables. Only statistically significant socio-demographic and clinical variables have been included in the table

	Dependent Variable	Sum of Squares	df	Mean Square	F	р
PHE-s <sup>®</sup> Levels	SIBD-Q Total	264.66	3	88.221	95.629	<.001
	SIBD-Q Systemic symptoms	286.73	3	95.575	94.472	<.001
	SIBD-Q Social Functioning	293.71	3	97.905	56.848	<.001
	SIBD-Q Bowel Symptoms	233.65	3	77.882	55.074	<.001
	SIBD-Q Emotional functioning	308.10	3	102.700	84.294	<.001
Gender	SIBD-Q Total	13.54	1	13.536	14.672	<.001
	SIBD-Q Systemic symptoms	13.51	1	13.506	13.351	<.001
	SIBD-Q Social Functioning	4.14	1	4.138	2.402	0.122
	SIBD-Q Bowel Symptoms	21.12	1	21.123	14.937	<.001
	SIBD-Q Emotional functioning	11.29	1	11.292	9.269	0.002
Relapses in the last 12 moths	SIBD-Q Total	69.03	4	17.259	18.708	< .001
	SIBD-Q Systemic symptoms	79.19	4	19.796	19.568	< .001
	SIBD-Q Social Functioning	140.76	4	35.191	20.433	<.001
	SIBD-Q Bowel Symptoms	73.76	4	18.439	13.039	<.001
	SIBD-Q Emotional functioning	45.61	4	11.403	9.359	<.001
PHE-s®_Levels * Gender	SIBD-Q Total	3.39	3	1.130	1.225	0.300
	SIBD-Q Systemic symptoms	2.87	3	0.956	0.945	0.418
	SIBD-Q Social Functioning	1.40	3	0.467	0.271	0.846
	SIBD-Q Bowel Symptoms	2.56	3	0.854	0.604	0.613
	SIBD-Q Emotional functioning	5.85	3	1.951	1.601	0.188
PHE-s®_Levels * Relapses in the last 12 moths	SIBD-Q Total	9.09	10	0.909	0.986	0.455
	SIBD-Q Systemic symptoms	10.56	10	1.056	1.044	0.405
	SIBD-Q Social Functioning	20.15	10	2.015	1.170	0.309
	SIBD-Q Bowel Symptoms	14.52	10	1.452	1.027	0.419
	SIBD-Q Emotional functioning	8.13	10	0.813	0.667	0.755
Gender * Relapses in the last 12 moths	SIBD-Q Total	6.51	3	2.171	2.353	0.071
	SIBD-Q Systemic symptoms	6.84	3	2.281	2.255	0.081
	SIBD-Q Social Functioning	9.83	3	3.276	1.902	0.128
	SIBD-Q Bowel Symptoms	9.61	3	3.204	2.266	0.080
	SIBD-Q Emotional functioning	5.04	3	1.682	1.380	0.248
PHE-s <sup>®</sup> _Levels * Gender * Relapses in the last 12 moths	SIBD-Q Total	7.67	7	1.096	1.188	0.308
	SIBD-Q Systemic symptoms	7.29	7	1.041	1.029	0.410
	SIBD-Q Social Functioning	13.00	7	1.857	1.078	0.376
	SIBD-Q Bowel Symptoms	5.14	7	0.734	0.519	0.820
	SIBD-Q Emotional functioning	15.52	7	2.216	1.819	0.081
Residuals	SIBD-Q Total	466.80	506	0.923		
	SIBD-Q Systemic symptoms	511.91	506	1.012		
	SIBD-Q Social Functioning	871.45	506	1.722		
	SIBD-Q Bowel Symptoms	715.55	506	1.414		
	SIBD-Q Emotional functioning	616.49	506	1.218		

moreover, reported in their studies that IBD patients' HRQoL was lower in patients who had hospitalization and more severe disease [50, 51]. Similarly, we found a correlation between the patients who reported many relapses and their HRQoL.. This supports that disease severity have an impact on HRQoL The discovery that patient health engagement has a significant relationship

with patient's HRQoL is one of the main strengths of this study and could have interesting practical implication in the development of interventions dedicated to enhancing patients' wellbeing. Contrarily to socio-demographic and clinical characteristics that are factors more stable and difficult to modify, patient health engagement level can be modifiable through specific healthcare interventions.

Barello et al. Health Qual Life Outcomes (2021) 19:77 Page 7 of 9

Table 5 Regression values of Patient Health Engagement (PHE-s®) on IBD patients' HRQoL (SIBD-Q)

	SIBD-Q										
PHE-s®	Psycho-Emotional Functioning		Systemic symptoms		Bowel S	Bowel Symptoms		Social Functioning		Total Score	
	В	R squared	В	R squared	В	R squared	В	R squared	В	R squared	
	.607	.369	.572	.327	.482	.232	.485	.234	.585	.343	

In this sense, as this is a modifiable factor, screening for patient engagement levels, coupled with appropriate interventions to improve this psychosocial aspect, could improve care, and ultimately improve HRQoL outcomes among IBD patients [56].

In this sense, the level of patient health engagement can be considered as a precious element to rely on, both for predicting IBD patients' HRQoL and for modifying it, to sustain patients' wellbeing.

However, our study also has limitations. Given that the A.M.I.C.I. onlus is a voluntary-based patient organization, participants of this study (which were selected among those individuals belonging to the patient organization) may show higher levels of patient health engagement than the general IBD population, which may limit the generalizability of our results. Moreover, it is possible that patients in AMICI could be more prone to be active in their own disease in the first place, considering they are part of a patient organization. Another limitation is that-due to privacy issues-we have no data about who did not fill out the questionnaire and thus we cannot compare the characteristics of this population with the one that constituted our study sample. Moreover, we had not the possibility to know the whole number of patients who were firstly contacted to fill out the survey. Furthermore, even if with a limited number, our sample included people diagnosed with unclassified colitis. Further research should consider collecting more precise data about this diagnosis (i.e. number of patients with proctitis, left-sided and pancolitis). Finally, although the population of the study was recruited in all the Italian regions, we did not have access to other geographic or socioeconomic factors that may also influence patient engagement and/or patients' HRQoL such as urban or rural contexts or income.

# Conclusion

Patient health engagement is a novel concept in IBD research, and the study results suggest that IBD patients' attitudes to play an active role in their healthcare may be a crucial factor in shaping HRQoL outcomes of this clinical population. Thus, our findings underline the importance of promoting patient health engagement initiatives to sustain patients' HRQoL. Policy makers

and clinicians—according to this study's results—should increasingly recognize that patients can safeguard their HRQoL by being actively engaged in their health care. Indeed, successful patient health engagement is associated with a positive shift in the ways in which patients adjust to their illness condition and relate with their healthcare services, thus ultimately improving their own HRQoL.

### **Abbreviations**

UC: Ulcerative Colitis; CD: Chron's Disease; IBD: Inflammatory Bowel Disease; PHE-model: Patient Health Engagement Model; PHE-s®: Patient Health Engagement Scale; SIBD-Q: Short Inflammatory Bowel Disease Questionnaire; A.M.I.C.I. Onlus: Associazione Nazionale per le Malattie Inflammatorie Croniche dell'Intestino.

### Acknowledgements

The authors gratefully acknowledge A.M.I.C.I. onlus Organization for participating to this study for their valuable contributions to the interpretation of the findings.

### Authors' contributions

SB, EG and GG analyzed and interpreted the data, wrote the original draft, and reviewed and edited the various drafts of the manuscript. SL and EP were involved in the conception and the design of the study. SL, EP and GG revised the manuscript. All authors read and approved the final manuscript.

### Funding

The data collection was supported by the AMICI, a non-profit association of patients diagnosed with inflammatory bowel disease.

### Availability of data and materials

The datasets generated and/or analyzed during the current study are not publicly available due to data privacy reasons but are available from the corresponding author on reasonable request.

### Declarations

### Ethics approval and consent to participate.

The ethics committee of Università Cattolica del Sacro Cuore (Italy) approved the study and written informed consent was obtained from all patients.

# **Consent for publication**

The manuscript has been read and approved by authors, all the authors agree with the content of the manuscript and are aware of this submission.

### Competing interests

The authors declare that they have no competing interests.

### Author details

 EngageMinds Hub, Consumer, Food and Health Engagement Research Center, Faculty of Psychology, Università Cattolica del Sacro Cuore, Milan, Italy.
 EngageMinds Hub, Consumer, Food & Health Engagement Research Center, Università Cattolica del Sacro Cuore, Milan, Italy.
 Amici Onlus, Milan, Italy. <sup>4</sup> EngageMinds Hub, Consumer, Food & Health Engagement Research Center, Faculty of Agriculture, Food and Environmental Sciences, Università Cattolica del Sacro Cuore, Piacenza, Italy.

Received: 11 February 2019 Accepted: 1 March 2021 Published online: 07 March 2021

### References

- Molodecky NA, Soon IS, Rabi DM, et al. Increasing incidence and prevalence of the inflammatory bowel diseases with time, based on systematic review. Gastroenterology. 2012;142:46-54.e42; quiz e30.
- Loftus EV. Clinical epidemiology of inflammatory bowel disease: Incidence, prevalence, and environmental influences. Gastroenterology. 2004;126:1504–17.
- Lakatos P-L. Recent trends in the epidemiology of inflammatory bowel diseases; up or down? World J Gastroenterol. 2006;12:6102–8.
- Tragnone A, Corrao G, Miglio F, Caprilli R LG. Incidence of inflammatory bowel disease in Italy: a nationwide population-based study. Gruppo Italiano per lo Studio del Colon e del Retto (GISC). Int J Epidemiol. 1996:25(5):
- Mark A Peppercorn. Definition, epidemiology, and risk factors in inflammatory bowel disease-UpToDate. UpToDate. 2018;
- McCormick JB, Hammer RR, Farrell RM, Geller G, James KM, Loftus E V., et al. Experiences of patients with chronic gastrointestinal conditions: In their own words. Health Qual Life Outcomes. 2012;
- Rocchi A, Benchimol El, Bernstein CN, Bitton A, Feagan B, Panaccione R, et al. Inflammatory bowel disease: A Canadian burden of illness review. Gastroenterol: Can. J; 2012.
- Ciccocioppo R, Klersy C, Russo ML, Valli M, Boccaccio V, Imbesi V, et al. Validation of the Italian translation of the Inflammatory Bowel Disease Questionnaire. Dig Liver Dis Editrice Gastroenterologica Italiana. 2011;43:535–41.
- Boye B, Lundin KEA, Jantschek G, Leganger S, Mokleby K, Tangen T, et al. INSPIRE study: Does stress management improve the course of inflammatory bowel disease and disease-specific quality of life in distressed patients with ulcerative colitis or crohn's disease? Inflamm Bowel Dis: A randomized controlled trial; 2011.
- Crohn's & Colitis Foundation of America. The Facts About Inflammatory Bowel Diseases. Inflamm Bowel Dis. 2014;
- van der E, Vlachonikolis IG, Munkholm P, Nijman J, Bernklev T, Politi P, et al. The role of quality of care in health-related quality of life in patients with IBD. Inflamm Bowel Dis. 2004;10:392–8.
- Barello S, Leone D, Danese S, Vegni E. Inflammatory bowel diseases and psychological issues: A new approach for a systematic analysis of the academic debate. Psychol Health Med [Internet]. 2013;37–41. Available from: http://www.ncbi.nlm.nih.gov/pubmed/24215557
- Sajadinejad MS, Asgari K, Molavi H, Kalantari M, Adibi P. Psychological issues in inflammatory bowel disease: An overview. Pract: Gastroenterol. Res; 2012.
- 14. Jordan C, Sin J, Fear NT, Chalder T. A systematic review of the psychological correlates of adjustment outcomes in adults with inflammatory bowel disease. Rev: Clin. Psychol; 2016.
- 15. Jedel S, Hood MM, Keshavarzian A. Getting personal: A review of sexual functioning, body image, and their impact on quality of life in patients with inflammatory bowel disease. Bowel Dis: Inflamm; 2015.
- Forestier B, Anthoine E, Reguiai Z, Fohrer C, Blanchin M. A systematic review of dimensions evaluating patient experience in chronic illness. Health Qual Life Outcomes. 2019;2:1–14.
- Sainsbury A, Heatley RV. Review article: Psychosocial factors in the quality
  of life of patients with inflammatory bowel disease. Aliment Pharmacol
  Ther. 2005;21:499–508.
- McCombie AM, Mulder RT, Gearry RB. How IBD patients cope with IBD: A systematic review. J. Crohn's Colitis. 2013.
- Triantafillidis JK, Merikas E, Gikas A. Psychological factors and stress in inflammatory bowel disease. Hepatol: Expert Rev. Gastroenterol; 2013.
- Trindade IA, Ferreira C, Pinto-Gouveia J. Chronic illness-related shame and experiential avoidance mediate the impact of IBD symptomatology on depression. Eur Psychiatry. 2016;

- 21. Goodhand J, Rampton D. Psychological stress and coping in IBD. Gut. 2008
- 22. Vidal A, Gomez-Gil E, Sans M, Portella MJ, Salamero M, Piqué JM, et al. Health-related quality of life in inflammatory bowel disease patients: The role of psychopathology and personality. Inflamm Bowel Dis. 2008;
- Moreno-Jiménez, B., Blanco, B. L., Rodríguez-Muñoz, A., & Hernández EG. The influence of personality factors on health-related quality of life of patients with inflammatory bowel disease. J Psychosom Res. 2007;62(1):39–46
- Verissimo, R., Mota-Cardoso, R., & Taylor G. Relationships between alexithymia, emotional control, and quality of life in patients with inflammatory bowel disease. Psychother Psychosom. 1998;67(2);75–80.
- Hall NJ, Rubin GP, Dougall A, Hungin APS, Neely J. The Fight for 'Healthrelated Normality': A Qualitative Study of the Experiences of Individuals Living with Established Inflammatory Bowel Disease (IBD). J Health Psychol. 2005;10:443–55.
- Hou JK, Lee D, Lewis J. Diet and Inflammatory Bowel Disease: Review of Patient-Targeted Recommendations. Clin Gastroenterol Hepatol. 2014;
- Horne R, Parham R, Driscoll R, Robinson A. Patient's attitudes to medicines and adherence to maintenance treatment in inflammatory bowel disease. Inflamm Bowel Dis. 2009;
- Friedman S, Cheifetz AS, Farraye FA, Banks PA, Makrauer FL, Burakoff R, et al. Doctor message can alter patients' behavior and attitudes regarding inflammatory bowel disease and colon cancer. Inflamm Bowel Dis. 2012;
- Graffigna G, Barello S. Spotlight on the Patient Health Engagement model (PHE model): a psychosocial theory to understand people's meaningful engagement in their own health care. Patient Prefer Adherence. 2018;12:1261–71.
- 30. Graffigna G, Barello S, Bonanomi A. The role of Patient Health Engagement model (PHE-model) in affecting patient activation and medication adherence: A structural equation model. PLoS One. 2017;12.
- Graffigna G, Barello S, Bonanomi A, Riva G. Factors affecting patients' online health information-seeking behaviors: the role of the Patient Health Engagement (PHE) Model. Patient Educ Couns. 2017;
- Hibbard JH, Mahoney ER, Stock R, Tusler M. Do increases in patient activation result in improved self-management behaviors? Health Serv Res. 2007;42:1443–63.
- Greene J, Hibbard JH, Sacks R, Overton V, Parrotta CD. When patient activation levels change, health outcomes and costs change, too. Health Aff (Millwood) [Internet]. Project HOPE; 2015 [cited 2015 Nov 16];34:431–7.
   Available from: http://www.scopus.com/inward/record.url?eid=2-s2.0-84924629092&partnerlD=tZOtx3y1
- Shah SL, Siegel CA. Increasing Patient Activation Could Improve Outcomes for Patients with Inflammatory Bowel Disease. Bowel Dis: Inflamm; 2015.
- 35. Oles SK, Fukui S, Rand KL, Salyers MP. The relationship between hope and patient activation in consumers with schizophrenia: Results from longitudinal analyses. Psychiatry Res [Internet]. Elsevier Ireland Ltd; 2015 [cited 2015 Oct 5];228:272–6. Available from: http://www.scopus.com/inward/record.url?eid=2-s2.0-84938751608&partnerlD=tZOtx3y1
- Baars JE, Markus T, Kuipers EJ, Van Der Woude CJ. Patients' preferences regarding shared decision-making in the treatment of inflammatory bowel disease: Results from a patient-empowerment study. Digestion. 2010;
- 37. Munson GW, Wallston KA, Dittus RS, Speroff T, Roumie CL. Activation and perceived expectancies: Correlations with health outcomes among veterans with inflammatory bowel disease. J Gen Intern Med. 2009;
- 38. Goldring AB, Taylora SE, Kemeny ME, Anton PA. Impact of health beliefs, quality of life, and the physician-patient relationship on the treatment intentions of inflammatory bowel disease patients. Heal Psychol. 2002;
- 39. Magnezi R, Glasser S, Shalev H, Sheiber A, Reuveni H. Patient activation, depression and quality of life. Patient Educ Couns. 2014;94:432–7.
- Barello S, Graffigna G. Engaging patients to recover life projectuality: an Italian cross-disease framework. Qual Life Res. 2015;24.
- Moser DK, Dickson V, Jaarsma T, Lee C, Stromberg A, Riegel B. Role of self-care in the patient with heart failure. Curr Cardiol Rep [Internet]. 2012 [cited 2013 Dec 28];14:265–75. Available from: http://www.ncbi.nlm.nih. gov/pubmed/22437374
- Graffigna G, Barello S, Bonanomi A, Lozza E. Measuring patient engagement: development and psychometric properties of the Patient Health Engagement (PHE) Scale. Front Psychol [Internet]. Frontiers Research

- Foundation; 2015 [cited 2016 Jan 5];6:274. Available from: http://www.scopus.com/inward/record.url?eid=2-s2.0-84926457655&partnerlD=tZOtx3v1
- Graffigna G, Barello S. Patient Health Engagement (PHE) model in enhanced recovery after surgery (ERAS): Monitoring patients' engagement and psychological resilience in minimally invasive thoracic surgery. J Thorac Dis. 2018;10.
- 44. Guyatt, Gordon; Mitchell, Alba; Ivrine, E.Jan; Williams, Nancy; Goodacre, Robert; Tompkins C. A new measure of health status for clinical trials in inflammatory bowel disease. Gastroenterology. 1989;96:804–10.
- 45. Chen XL, Zhong L huan, Wen Y, Liu TW, Li XY, Hou ZK, et al. Inflammatory bowel disease-specific health-related quality of life instruments: A systematic review of measurement properties. Health Qual Life Outcomes. Health and Quality of Life Outcomes; 2017;15:1–13.
- Mahalli AAE, Alharthi HMA. Assessment of health-related quality of life of patients with inflammatory bowel diseases in Eastern Province. Saudi Arabia J Infect Public Health. 2017;10:93–101.
- Blanchard JF1, Bernstein CN, Wajda A RP. Small-area variations and sociodemographic correlates for the incidence of Crohn's disease and ulcerative colitis. Am J Epidemiol. 154(4):328–35.
- Sonnenberg A. Demographic Characteristics of Hospitalized IBD Patients. Dig Dis Sci. 54:2449.
- Habibi, F., Habibi, M. E., Gharavinia, A., Mahdavi, S. B., Akbarpour, M. J., Baghaei, A., & Emami MH. Quality of life in inflammatory bowel disease patients: A cross-sectional study. J Res Med Sci. 2017;22, 104. d.
- Lichtenstein GR, Yan S, Bala M, Hanauer S. Remission in patients with Crohn's disease is associated with improvement in employment and quality of life and a decrease in hospitalizations and surgeries. Am J Gastroenterol. 2004;
- Barnes EL, Long MD, Kappelman MD, Martin CF, Sandler RS. High Patient Activation Is Associated With Remission in Patients With Inflammatory Bowel Disease. Inflamm Bowel Dis [Internet]. 2018;XX:1–7. Available from: https://academic.oup.com/ibdjournal/advance-article/doi/https://doi. org/10.1093/ibd/izy378/5257738

- Magnezi R, Glasser S, Shalev H, Sheiber A, Reuveni H. Patient activation, depression and quality of life. Patient Educ Couns [Internet]. 2014 [cited 2016 Jan 3];94:432–7. Available from: http://www.scopus.com/inward/ record.url?eid=2-s2.0-84894032728&partnerID=tZOtx3y1
- Hochhalter AK, Song J, Rush J, Sklar L, Stevens A. Making the Most of Your Healthcare intervention for older adults with multiple chronic illnesses. Patient Educ Couns [Internet]. 2010 [cited 2015 Nov 25];81:207–13. Available from: http://www.scopus.com/inward/record.url?eid=2-s2.0-77957 284212&partnerlD=tZOtx3y1
- 54. Druss BG, Zhao L, von Esenwein SA, Bona JR, Fricks L, Jenkins-Tucker S, et al. The Health and Recovery Peer (HARP) Program: a peer-led intervention to improve medical self-management for persons with serious mental illness. Schizophr Res [Internet]. 2010 [cited 2015 Sep 18];118:264–70. Available from: http://www.scopus.com/inward/record.url?eid=2-s2.0-77952107604&partnerID=tZOtx3y1
- Dodson SE, Ruisinger JF, Howard PA, Hare SE, Barnes BJ. Servicios de gestión de la medicación en farmacia comunitaria: Impacto financiero para los pacientes. Pharm Pract (Granada) [Internet]. 2012;10:119–24.
   Available from: http://www.scopus.com/inward/record.url?eid=2s2.0-84866537753&partnerlD=tZOtx3y1
- Barello, S., Guida, E., Bonanomi, A., Menichetti, J., Leone, S., Previtali, E., & Graffigna, G. (2020). We-care ibd score: assessing high-quality care in the perspective of patients with inflammatory bowel diseases. Journal of Crohn's and Colitis. jjaa174, https://doi.org/https://doi.org/10.1093/ecco-jcc/jjaa174

### **Publisher's Note**

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

# Ready to submit your research? Choose BMC and benefit from:

- fast, convenient online submission
- $\bullet\,$  thorough peer review by experienced researchers in your field
- rapid publication on acceptance
- support for research data, including large and complex data types
- gold Open Access which fosters wider collaboration and increased citations
- maximum visibility for your research: over 100M website views per year

### At BMC, research is always in progress.

**Learn more** biomedcentral.com/submissions

